

# On Some Properties and Sums of Pell, Pell-Lucas and Modified Pell Sequences

Supunnee Sompong<sup>1, a</sup> and Benjawan Rodjanadid<sup>2, b</sup>

<sup>1</sup>Department of Mathematics and Statistics, Faculty of Science and Technology,  
Sakon Nakhon Rajabhat University, Sakon Nakhon, 47000, Thailand.

<sup>2</sup>School of Mathematics, Institute of Science, Suranaree University of Technology,  
Nakhon Ratchasima, 30000, Thailand.

<sup>a</sup><[s\\_sompong@snru.ac.th](mailto:s_sompong@snru.ac.th)>, <sup>b</sup><[benjawan@sut.ac.th](mailto:benjawan@sut.ac.th)>

## Abstract

In this paper, we study and show some properties and relationship of Pell, Pell-Lucas and Modified Pell sequences. Moreover, some summation formulas of  $\sum_{i=1}^n P_{2i+2}q_{2i}$ ,  $\sum_{i=1}^n P_{2i}q_{2i+2}$ ,  $\sum_{k=0}^n Q_{2k}$ ,  $\sum_{k=0}^n P_k^2$ ,  $\sum_{k=0}^n Q_k^2$  and  $\sum_{k=0}^n Q_{2k+1}$  are given by these properties.

**Keywords:** sequences, summation formulas, Pell numbers, Pell-Lucas numbers, Modified Pell numbers

## 1. Introduction

The field of sequence has been of substantial studied for many researchers [1-7]. The Pell, Pell-Lucas and Modified Pell sequences are an interesting sequence for many mathematician [8 -1 2 ]. Halici and Dasdemir (2010) studied and found some relationship among Pell, Pell-Lucas and Modified Pell sequences. After that, Halici (2011) considered some formulas for products of these sequences. Srisawat and Sriprad (2016) obtained some identities for Pell and Pell-Lucas by using matrix methods. Moreover, they presented the solution of some Diophantine equation by applying these identities.

This article is organized in the following manner. Some basic known Definition and results are shown in section 2. The goal of this paper, presented in section 3, is to establish some relationship of Pell, Pell-Lucas and Modified Pell numbers. Moreover we used the first results to find some summation of these sequences.

## 2. Preliminaries

Throughout this paper, let  $P_n$ ,  $Q_n$  and  $q_n$  are  $n^{th}$  Pell, Pell-Lucas and Modified Pell numbers respectively. In this section, the basic known Definitions and results that will be used in our work will be given. We begin this section by the following Definition.

**Definition 2.1** [6] Pell sequence is a sequence defined by  $P_n = 2P_{n-1} + P_{n-2}$  for any positive integer  $n \geq 2$ , where  $P_0 = 0, P_1 = 1$ .

**Definition 2.2** [6] Pell-Lucas sequence is a sequence defined by  $Q_n = 2Q_{n-1} + Q_{n-2}$  for any positive integer  $n \geq 2$ , where  $Q_0 = 2, Q_1 = 2$ .

**Definition 2.3** [7] Modified Pell sequence is a sequence defined by  $q_n = 2q_{n-1} + q_{n-2}$  for any positive integer  $n \geq 2$ , where  $q_0 = 1, q_1 = 1$ .

**Proposition 2.4** [7] Let  $P_n$  and  $q_n$  are  $n^{\text{th}}$  Pell and Modified Pell numbers respectively.

Thus for any positive integer  $n$ ,  $q_n = P_n + P_{n-1} = P_{n+1} - P_n = \frac{P_{n+1} + P_{n-1}}{2}$ ,  $Q_n = 2(P_{n+1} - P_n) = 2(P_{n+1} - P_n) = P_{n+1} + P_{n-1}$ , and  $P_{n+1} = \frac{q_{n+1} + q_n}{2}$ .

**Lemma 2.5** [8] Let  $P_n$  and  $Q_n$  are  $n^{\text{th}}$  Pell and Pell-Lucas numbers respectively. Thus for any positive integer  $n$ ,  $Q_n^2 = 8P_n^2 + 4(-1)^n$ .

**Proposition 2.6** [10] Let  $P_n$ ,  $Q_n$  and  $q_n$  are  $n^{\text{th}}$  Pell, Pell-Lucas and Modified Pell numbers respectively. Thus for any positive integer  $n$ ,

1.  $P_n q_{n+2} = \frac{1}{2} P_{2n+2} - (-1)^n$
2.  $\sum_{i=1}^n P_{2i} q_{2i+2} = \frac{1}{4} P_{2n} P_{2n+4} - n$
3.  $\sum_{i=1}^n P_{2i} Q_{2i+2} = \frac{1}{2} P_{2n} P_{2n+4} - 2n$
4.  $\sum_{i=1}^n P_{2i}^2 = \frac{1}{8} (P_{2n} q_{2n+2} - 2n) = \frac{1}{16} (P_{2n} Q_{2n+2} - 4n)$

**Theorem 2.7** [11] Let  $P_n$ ,  $Q_n$  and  $q_n$  are  $n^{\text{th}}$  Pell, Pell-Lucas and Modified Pell numbers respectively. Thus for any positive integer  $n$ ,

1.  $P_n = \frac{Q_{n+1} + Q_{n-1}}{8}$ ,  $P_n^2 = \frac{Q_{2n+2}(-1)^{n+1}}{8}$
2.  $Q_n^2 = 2(q_{2n} + (-1)^n) = Q_{2n} + 2(-1)^n$ ,  $q_n^2 = \frac{q_{2n} + (-1)^n}{2}$
3.  $P_n Q_{n+1} - P_{n+1} Q_n = 2(-1)^{n+1}$
4.  $P_n q_{n+1} + P_{n+1} q_n = P_{2n+1}$

The Binet's formula for  $P_n$ ,  $Q_n$  and  $q_n$  are  $P_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}$ ,  $Q_n = \alpha^n + \beta^n$  and  $q_n = \frac{\alpha^n + \beta^n}{\alpha + \beta}$ , where  $\alpha = 1 + \sqrt{2}$  and  $\beta = 1 - \sqrt{2}$  are the roots of characteristic equation  $x^2 - 2x - 1 = 0$ .

### 3. Results

**Lemma 3.1** Let  $P_n$ ,  $Q_n$  and  $q_n$  are  $n^{\text{th}}$  Pell, Pell-Lucas and Modified Pell numbers respectively. Thus for any positive integer  $n$ , we have

1.  $P_{n+k} q_n = \frac{1}{2} [P_{2n+k} + (-1)^n P_k]$
2.  $P_n q_{n+k} = \frac{1}{2} [P_{2n+k} - (-1)^n P_k]$
3.  $P_{n+k} Q_n = P_{2n+k} + (-1)^n P_k$
4.  $P_n Q_{n+k} = P_{2n+k} - (-1)^n P_k$ .

**Proof.** By using the Binet formulas of Pell, Pell-Lucas and Modified Pell numbers, we get,

$$\begin{aligned} 1. P_{n+k} q_n &= \left( \frac{\alpha^{n+k} - \beta^{n+k}}{\alpha - \beta} \right) \left( \frac{\alpha^n + \beta^n}{\alpha + \beta} \right) \\ &= \frac{\alpha^{2n+k} + \alpha^{n+k} \beta^n - \alpha^n \beta^{n+k} - \beta^{2n+k}}{(\alpha - \beta)(\alpha + \beta)} \\ &= \frac{\alpha^{2n+k} - \beta^{2n+k}}{2(\alpha - \beta)} + \frac{(\alpha\beta)^n (\alpha^k - \beta^k)}{2(\alpha - \beta)} \end{aligned}$$

$$= \frac{1}{2} \left[ \frac{\alpha^{2n+k} - \beta^{2n+k}}{(\alpha - \beta)} + \frac{(-1)^n (\alpha^k - \beta^k)}{(\alpha - \beta)} \right]$$

$$= \frac{1}{2} [P_{2n+k} + (-1)^n P_k],$$

and

$$2. P_n q_{n+k} = \left( \frac{\alpha^n - \beta^n}{\alpha - \beta} \right) \left( \frac{\alpha^{n+k} + \beta^{n+k}}{\alpha + \beta} \right)$$

$$= \frac{\alpha^{2n+k} + \alpha^n \beta^{n+k} - \alpha^{n+k} \beta^n - \beta^{2n+k}}{(\alpha - \beta)(\alpha + \beta)}$$

$$= \frac{\alpha^{2n+k} - \beta^{2n+k}}{2(\alpha - \beta)} - \frac{(\alpha\beta)^n (\alpha^k - \beta^k)}{2(\alpha - \beta)}$$

$$= \frac{1}{2} \left[ \frac{\alpha^{2n+k} - \beta^{2n+k}}{\alpha - \beta} - (-1)^n \frac{(\alpha^k - \beta^k)}{\alpha - \beta} \right]$$

$$= \frac{1}{2} [P_{2n+k} - (-1)^n P_k].$$

Since  $Q_n = 2q_n$ , we also have  $P_{n+k}Q_n = P_{2n+k} + (-1)^n P_k$  and  $P_n Q_{n+k} = P_{2n+k} - (-1)^n P_k$ . The proof is completed.

**Theorem 3.2** Let  $P_n, Q_n$  and  $q_n$  are  $n^{th}$  Pell, Pell-Lucas and Modified Pell numbers respectively. Thus for any positive integer  $n$ , we have

1.  $\sum_{i=1}^n P_{2i+2} q_{2i} = \frac{1}{4} P_{2n+4} P_{2n} + n$
2.  $\sum_{i=1}^n P_{2i+2} Q_{2i} = \frac{1}{2} P_{2n+4} P_{2n} + 2n$
3.  $\sum_{i=1}^n P_{2i} q_{2i+2} = \frac{1}{4} P_{2n+4} P_{2n} - n$
4.  $\sum_{i=1}^n P_{2i} Q_{2i+2} = \frac{1}{2} P_{2n+4} P_{2n} - 2n$

**Proof.** Firstly, let us define a sequence as follows;

$$a_n = \left[ \frac{1}{4} P_{2n+4} P_{2n} + n \right] - \left[ \frac{1}{4} P_{2n+2} P_{2n-2} + (n-1) \right]$$

$$= \frac{1}{4} [P_{2n+4} P_{2n} - P_{2n+2} P_{2n-2} + 4]$$

$$= \frac{1}{4} \left[ \left( \frac{\alpha^{2n+4} - \beta^{2n+4}}{\alpha - \beta} \right) \left( \frac{\alpha^{2n} - \beta^{2n}}{\alpha - \beta} \right) - \left( \frac{\alpha^{2n+2} - \beta^{2n+2}}{\alpha - \beta} \right) \left( \frac{\alpha^{2n-2} - \beta^{2n-2}}{\alpha - \beta} \right) + 4 \right]$$

$$= \frac{1}{4} \left[ \frac{\alpha^{4n}(\alpha^4 - 1) + \beta^{4n}(\beta^4 - 1) - (\alpha\beta)^{2n}(\alpha^4 + \beta^4) + (\alpha\beta)^{2n-2}(\alpha^4 + \beta^4)}{(2\sqrt{2})(\alpha - \beta)} + 4 \right]$$

$$= \frac{1}{4} \left[ \frac{4\sqrt{2}(\alpha^{4n+2} - \beta^{4n+2})}{(2\sqrt{2})(\alpha - \beta)} + 4 \right] = \frac{1}{2} \left[ \frac{\alpha^{4n+2} - \beta^{4n+2}}{\alpha - \beta} + 2 \right]$$

$$= \frac{1}{2} [P_{4n+2} + 2] = \frac{1}{2} [P_{2(2n)+2} + (-1)^{2n} P_2]$$

$$= P_{2n+2} q_{2n} \quad (\text{By Lemma 3.1(1)})$$

Thus, we have;

$$1. \sum_{i=1}^n P_{2i+2} q_{2i} = \sum_{i=1}^n \left[ \left( \frac{1}{4} P_{2i+4} P_{2i} + i \right) - \left( \frac{1}{4} P_{2i+2} P_{2i-2} + (i-1) \right) \right]$$

$$= \left[ \left( \frac{1}{4} P_6 P_2 + 1 \right) - \left( \frac{1}{4} P_4 P_0 + 0 \right) \right] + \left[ \left( \frac{1}{4} P_8 P_4 + 2 \right) - \left( \frac{1}{4} P_6 P_2 + 1 \right) \right]$$

$$+ \left[ \left( \frac{1}{4} P_{10} P_6 + 3 \right) - \left( \frac{1}{4} P_8 P_4 + 2 \right) \right] + \left[ \left( \frac{1}{4} P_{12} P_8 + 4 \right) - \left( \frac{1}{4} P_{10} P_6 + 3 \right) \right]$$

$$\begin{aligned}
 & + \dots + \left[ \left( \frac{1}{4} P_{2(n-2)+4} P_{2(n-2)} + (n-2) \right) - \left( \frac{1}{4} P_{2(n-2)+2} P_{2(n-2)-2} + (n-3) \right) \right] \\
 & + \left[ \left( \frac{1}{4} P_{2(n-1)+4} P_{2(n-1)} + (n-1) \right) - \left( \frac{1}{4} P_{2(n-1)+2} P_{2(n-1)-2} + (n-2) \right) \right] \\
 & + \left[ \left( \frac{1}{4} P_{2n+4} P_{2n} + n \right) - \left( \frac{1}{4} P_{2n+2} P_{2n-2} + (n-1) \right) \right] \\
 & = \left( \frac{1}{4} P_{2n+4} P_{2n} + n \right) - \left( \frac{1}{4} P_4 P_0 + 0 \right) \\
 & = \frac{1}{4} P_{2n+4} P_{2n} + n.
 \end{aligned}$$

2. Since  $Q_n = 2q_n$ , it follows that  $\sum_{i=1}^n P_{2i+2} Q_{2i} = \frac{1}{2} P_{2n+4} P_{2n} + 2n$ .

3. Let  $b_n = \left[ \frac{1}{4} P_{2n+4} P_{2n} + n \right] - \left[ \frac{1}{4} P_{2n+2} P_{2n-2} + (n+1) \right]$ , thus we have

$b_n = \frac{1}{4} [P_{2n+4} P_{2n} - P_{2n+2} P_{2n-2} - 4]$ . Similarly to the prove of  $a_n$  and by Lemma 3.1(2), we have  $b_n = P_{2n} q_{2n+2}$ . It follows that,

$$\begin{aligned}
 \sum_{i=1}^n P_{2i} q_{2i+2} & = \sum_{i=1}^n \left[ \left( \frac{1}{4} P_{2i+4} P_{2i} + i \right) - \left( \frac{1}{4} P_{2i+2} P_{2i-2} + (i+1) \right) \right] \\
 & = \left[ \left( \frac{1}{4} P_6 P_2 + 1 \right) - \left( \frac{1}{4} P_4 P_0 + 2 \right) \right] + \left[ \left( \frac{1}{4} P_8 P_4 + 2 \right) - \left( \frac{1}{4} P_6 P_2 + 3 \right) \right] \\
 & + \left[ \left( \frac{1}{4} P_{10} P_6 + 3 \right) - \left( \frac{1}{4} P_8 P_4 + 4 \right) \right] + \left[ \left( \frac{1}{4} P_{12} P_8 + 4 \right) - \left( \frac{1}{4} P_{10} P_6 + 5 \right) \right] + \dots \\
 & + \left[ \left( \frac{1}{4} P_{2(n-2)+4} P_{2(n-2)} + (n-2) \right) - \left( \frac{1}{4} P_{2(n-2)+2} P_{2(n-2)-2} + (n-2) + 1 \right) \right] \\
 & + \left[ \left( \frac{1}{4} P_{2(n-1)+4} P_{2(n-1)} + (n-1) \right) - \left( \frac{1}{4} P_{2(n-1)+2} P_{2(n-1)-2} + (n-1) + 1 \right) \right] \\
 & + \left[ \left( \frac{1}{4} P_{2n+4} P_{2n} + n \right) - \left( \frac{1}{4} P_{2n+2} P_{2n-2} + (n+1) \right) \right] \\
 & = \frac{1}{4} P_{2n+4} P_{2n} - \frac{1}{4} P_4 P_0 - n \\
 & = \frac{1}{4} P_{2n+4} P_{2n} - n
 \end{aligned}$$

4. Since  $Q_n = 2q_n$ , it follows that  $\sum_{i=1}^n P_{2i} Q_{2i+2} = \frac{1}{2} P_{2n+4} P_{2n} - 2n$ .

**Lemma 3.3** Let  $P_n, Q_n$  and  $q_n$  are  $n^{\text{th}}$  Pell, Pell-Lucas and Modified Pell numbers respectively. Thus for any positive integer  $n$ , we have

1.  $Q_{2n} = P_{n+2} q_n - P_n q_{n-2}, n \geq 2$
2.  $Q_{2n} = P_{n-1} q_{n+3} - P_{n-3} q_{n+1}, n \geq 3$ .

**Proof.** 1. Considering Lemma 3.1(1), we have

$$\begin{aligned}
 P_{n+2} q_n - P_n q_{n-2} & = \frac{1}{2} [P_{2n+2} + (-1)^n P_2] - \frac{1}{2} [P_{2(n-2)+2} + (-1)^{n-2} P_2] \\
 & = \frac{1}{2} [P_{2n+2} + (-1)^n P_2] - \frac{1}{2} [P_{2n-2} + (-1)^{n-2} P_2] \\
 & = \frac{1}{2} [P_{2n+2} - P_{2n-2}] \\
 & = \frac{1}{2} [(2P_{2n+1} + P_{2n}) - P_{2n-2}] \\
 & = \frac{1}{2} [2P_{2n+1} + (2P_{2n-1} + P_{2n-2}) - P_{2n-2}] \\
 & = P_{2n+1} + P_{2n-1} \\
 & = Q_{2n}
 \end{aligned}$$

2. By Lemma 3.1(2), we have

$$\begin{aligned} P_{n-1}q_{n+3} - P_{n-3}q_{n+1} &= P_{(n-1)q(n-1)+4} - P_{(n-3)q(n-3)+4} \\ &= \frac{1}{2} [P_{2(n-1)+4} - (-1)^{n-1}P_4] - \frac{1}{2} [P_{2(n-3)+4} - (-1)^{n-3}P_4] \\ &= \frac{1}{2} [P_{2n+2} - P_{2n-2}] \\ &= Q_{2n} \end{aligned}$$

So, the proof is completed.

**Theorem 3.4** Let  $P_n, Q_n$  and  $q_n$  are  $n^{\text{th}}$  Pell, Pell-Lucas and Modified Pell numbers respectively. Thus for any positive integer  $n$ , we have

1.  $\sum_{k=0}^n Q_{2k} = P_{n+2}q_n + P_{n+1}q_{n-1} + 1$
2.  $\sum_{k=0}^n Q_{2k} = P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 1, n \geq 2$
3.  $\sum_{k=0}^n q_{2k} = \frac{P_{n+2}q_n + P_{n+1}q_{n-1} + 1}{2}$
4.  $\sum_{k=0}^n q_{2k} = \frac{P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 1}{2}, n \geq 2.$

**Proof.** By Definition of Pell-Lucas and Lemma 3.3, we get

1.  $\begin{aligned} \sum_{k=0}^n Q_{2k} &= Q_0 + Q_2 + \sum_{k=2}^n Q_{2k} \\ &= Q_0 + Q_2 + \sum_{k=2}^n (P_{k+2}q_k - P_kq_{k-2}) \\ &= Q_0 + Q_2 + (P_4q_2 - P_2q_0) + (P_5q_3 - P_3q_1) + (P_6q_4 - P_4q_2) \\ &\quad + (P_7q_5 - P_5q_3) + (P_8q_6 - P_6q_4) + \dots + (P_{n-1}q_{n-3} - P_{n-3}q_{n-5}) \\ &\quad + (P_nq_{n-2} - P_{n-2}q_{n-4}) + (P_{n+1}q_{n-1} - P_{n-1}q_{n-3}) + (P_{n+2}q_n - P_nq_{n-2}) \\ &= Q_0 + Q_2 + P_{n+2}q_n + P_{n+1}q_{n-1} - P_3q_1 - P_2q_0 \\ &= 2 + 6 + P_{n+2}q_n + P_{n+1}q_{n-1} - (5)(1) - (2)(1) \\ &= P_{n+2}q_n + P_{n+1}q_{n-1} + 1. \end{aligned}$
2.  $\begin{aligned} \sum_{k=0}^n Q_{2k} &= Q_0 + Q_2 + Q_4 + \sum_{k=3}^n Q_{2k} \\ &= Q_0 + Q_2 + Q_4 + \sum_{k=3}^n (P_{k-1}q_{k+3} - P_{k-3}q_{k+1}) \\ &= Q_0 + Q_2 + Q_4 + (P_2q_6 - P_0q_4) + (P_3q_7 - P_1q_5) + (P_4q_8 - P_2q_6) \\ &\quad + (P_5q_9 - P_3q_7) + (P_6q_{10} - P_4q_8) + \dots + (P_{n-3}q_{n+1} - P_{n-5}q_{n-1}) \\ &\quad + (P_{n-2}q_{n+2} - P_{n-4}q_n) + (P_{n-1}q_{n+3} - P_{n-3}q_{n+1}) \\ &= Q_0 + Q_2 + Q_4 + P_{n-2}q_{n+2} + P_{n-1}q_{n+3} - P_1q_5 - P_0q_4 \\ &= 42 + P_{n-2}q_{n+2} + P_{n-1}q_{n+3} - 41 \\ &= P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 1. \end{aligned}$

For 3 and 4, since  $Q_n = 2q_n$ , we obtain that  $\sum_{k=0}^n q_{2k} = \frac{P_{n+2}q_n + P_{n+1}q_{n-1} + 1}{2}$  and

$$\sum_{k=0}^n q_{2k} = \frac{P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 1}{2}, n \geq 2.$$

Thus, the proof is completed.

**Theorem 3.5** Let  $P_n$  and  $q_n$  are  $n^{\text{th}}$  Pell and Modified Pell numbers respectively, then for any positive integer  $n$ , we have

1.  $\sum_{k=0}^n P_k^2 = \frac{1}{8} [P_{n+2}q_n + P_{n+1}q_{n-1} + (-1)^{n+1}]$
2.  $\sum_{k=0}^n P_k^2 = \frac{1}{8} [P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + (-1)^{n+1}], n \geq 2.$

**Proof.** By Theorem 2.7 and Theorem 3.4, we have

$$1. \sum_{k=0}^n P_k^2 = \sum_{k=0}^n \frac{1}{8} (Q_{2k} + 2(-1)^{k+1}) = \frac{1}{8} [\sum_{k=0}^n Q_{2k} + 2 \sum_{k=0}^n (-1)^{k+1}]$$

$$= \frac{1}{8} [P_{n+2}q_n + P_{n+1}q_{n-1} + 1 + 2 \sum_{k=0}^n (-1)^{k+1}]$$

**Case 1.1 :** If  $n$  is even, then we get

$$\sum_{k=0}^n P_k^2 = \frac{1}{8} [P_{n+2}q_n + P_{n+1}q_{n-1} + 1 + 2(-1)]$$

$$= \frac{1}{8} [P_{n+2}q_n + P_{n+1}q_{n-1} - 1]$$

**Case 1.2 :** If  $n$  is odd, then we get

$$\sum_{k=0}^n P_k^2 = \frac{1}{8} [P_{n+2}q_n + P_{n+1}q_{n-1} + 1 + 2(0)]$$

$$= \frac{1}{8} [P_{n+2}q_n + P_{n+1}q_{n-1} + 1]$$

Therefore,  $\sum_{k=0}^n P_k^2 = \frac{1}{8} [P_{n+2}q_n + P_{n+1}q_{n-1} + (-1)^{n+1}]$ .

$$2. \sum_{k=0}^n P_k^2 = \sum_{k=0}^n \frac{1}{8} (Q_{2k} + 2(-1)^{k+1}) = \frac{1}{8} [\sum_{k=0}^n Q_{2k} + 2 \sum_{k=0}^n (-1)^{k+1}]$$

$$= \frac{1}{8} [P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 1 + 2 \sum_{k=0}^n (-1)^{k+1}]$$

**Case 2.1 :** If  $n$  is even, then we get

$$\sum_{k=0}^n P_k^2 = \frac{1}{8} [P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 1 + 2(-1)]$$

$$= \frac{1}{8} [P_{n-2}q_{n+2} + P_{n-1}q_{n+3} - 1]$$

**Case 2.2 :** If  $n$  is odd, then we get

$$\sum_{k=0}^n P_k^2 = \frac{1}{8} [P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 1 + 2(0)]$$

$$= \frac{1}{8} [P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 1]$$

Therefore,  $\sum_{k=0}^n P_k^2 = \frac{1}{8} [P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + (-1)^{n+1}]$ .

**Theorem 3.6** Let  $P_n, Q_n$  and  $q_n$  are  $n^{th}$  Pell, Pell-Lucas and Modified Pell numbers respectively. Thus for any positive integer  $n$ , we have

$$1. \sum_{k=0}^n Q_k^2 = \begin{cases} P_{n+2}q_n + P_{n+1}q_{n-1} + 3; & n \text{ is even number} \\ P_{n+2}q_n + P_{n+1}q_{n-1} + 1; & n \text{ is odd number} \end{cases}$$

$$2. \sum_{k=0}^n Q_k^2 = \begin{cases} P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 3; & n \text{ is even number} \\ P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 1; & n \text{ is odd number and } n \geq 3 \end{cases}$$

**Proof.** By Lemma 2.6 and Theorem 3.3, we have

$$1. \sum_{k=0}^n Q_k^2 = \sum_{k=0}^n (8P_k^2 + 4(-1)^k) = 8 \sum_{k=0}^n P_k^2 + 4 \sum_{k=0}^n (-1)^k$$

**Case 1.1 :** If  $n$  is even, then we get

$$\sum_{k=0}^n Q_k^2 = 8 \sum_{k=0}^n P_k^2 + 4 \sum_{k=0}^n (-1)^k$$

$$= 8 \left[ \frac{1}{8} (P_{n+2}q_n + P_{n+1}q_{n-1} - 1) \right] + 4$$

$$= P_{n+2}q_n + P_{n+1}q_{n-1} + 3$$

**Case 1.2 :** If  $n$  is odd, then we get

$$\sum_{k=0}^n Q_k^2 = 8 \sum_{k=0}^n P_k^2 + 4 \sum_{k=0}^n (-1)^k$$

$$= 8 \left[ \frac{1}{8} (P_{n+2}q_n + P_{n+1}q_{n-1} + 1) \right] + 4(0)$$

$$= P_{n+2}q_n + P_{n+1}q_{n-1} + 1$$

$$2. \sum_{k=0}^n Q_k^2 = \sum_{k=0}^n (8P_k^2 + 4(-1)^k) = 8 \sum_{k=0}^n P_k^2 + 4 \sum_{k=0}^n (-1)^k$$

**Case 2.1 :** If  $n$  is even, then we get

$$\sum_{k=0}^n Q_k^2 = 8 \sum_{k=0}^n P_k^2 + 4 \sum_{k=0}^n (-1)^k$$

$$= 8 \left[ \frac{1}{8} (P_{n-2}q_{n+2} + P_{n-1}q_{n+3} - 1) \right] + 4$$

$$= P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 3$$

**Case 2.2 :** If  $n$  is odd, then we get

$$\sum_{k=0}^n Q_k^2 = 8 \sum_{k=0}^n P_k^2 + 4 \sum_{k=0}^n (-1)^k$$

$$= 8 \left[ \frac{1}{8} (P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 1) \right] + 4(0)$$

$$= P_{n-2}q_{n+2} + P_{n-1}q_{n+3} + 1$$

**Lemma 3.7** Let  $P_n, Q_n$  and  $q_n$  are  $n^{\text{th}}$  Pell, Pell-Lucas and Modified Pell numbers respectively. Thus for any positive integer  $n$ , we have

$$1. Q_{2n+1} = P_{n+2}q_{n+1} - P_nq_{n-1}$$

$$2. Q_{2n+1} = P_{n+1}q_{n+2} - P_{n-1}q_n$$

**Proof.** 1. By Proposition 2.5 and Lemma 3.1(1), we have

$$\begin{aligned} P_{n+2}q_{n+1} - P_nq_{n-1} &= P_{(n+1)+1}q_{n+1} - P_{(n-1)+1}q_{n-1} \\ &= \frac{1}{2} [P_{2(n+1)+1} + (-1)^{n+1}P_1] - \frac{1}{2} [P_{2(n-1)+1} + (-1)^{n-1}P_1] \\ &= \frac{1}{2} [P_{2n+3} - P_{2n-1}] \\ &= \frac{1}{2} [2P_{2n+2} + P_{2n+1} + 2P_{2n} - P_{2n+1}] \\ &= P_{2n+2} + P_{2n} \\ &= Q_{2n+1} \end{aligned}$$

2. By Proposition 2.5 and Lemma 3.1(2), we have

$$\begin{aligned} P_{n+1}q_{n+2} - P_{n-1}q_n &= P_{n+1}q_{(n+1)+1} - P_{n-1}q_{(n-1)+1} \\ &= \frac{1}{2} [P_{2(n+1)+1} - (-1)^{n+1}P_1] - \frac{1}{2} [P_{2(n-1)+1} - (-1)^{n-1}P_1] \\ &= \frac{1}{2} [P_{2n+3} - P_{2n-1}] \\ &= Q_{2n+1} \end{aligned}$$

**Theorem 3.8** Let  $P_n, Q_n$  and  $q_n$  are  $n^{\text{th}}$  Pell, Pell-Lucas and Modified Pell numbers respectively. Thus for any positive integer  $n$ , we have

$$1. \sum_{k=0}^n Q_{2k+1} = P_{n+1}q_n + P_{n+2}q_{n+1} - 1$$

$$2. \sum_{k=0}^n Q_{2k+1} = P_nq_{n+1} + P_{n+1}q_{n+2} - 1.$$

**Proof.** By Definition of Pell-Lucas and Lemma 3.7, we get

$$\begin{aligned} 1. \sum_{k=0}^n Q_{2k+1} &= Q_1 + \sum_{k=1}^n Q_{2k+1} \\ &= Q_1 + \sum_{k=1}^n (P_{k+2}q_{k+1} - P_kq_{k-1}) \\ &= Q_1 + (P_3q_2 - P_1q_0) + (P_4q_3 - P_2q_1) + (P_5q_4 - P_3q_2) \\ &\quad + \dots + (P_{n-1}q_{n-2} - P_{n-3}q_{n-4}) + (P_nq_{n-1} - P_{n-2}q_{n-3}) \\ &\quad + (P_{n+1}q_n - P_{n-1}q_{n-2}) + (P_{n+2}q_{n+1} - P_nq_{n-1}) \end{aligned}$$

$$\begin{aligned}
 &= Q_1 + P_{n+1}q_n + P_{n+2}q_{n+1} - P_2q_1 - P_1q_0 \\
 &= 2 + P_{n+1}q_n + P_{n+2}q_{n+1} - (2)(1) - (1)(1) \\
 &= P_{n+1}q_n + P_{n+2}q_{n+1} - 1 \\
 2. \sum_{k=0}^n Q_{2k+1} &= Q_1 + \sum_{k=1}^n Q_{2k+1} \\
 &= Q_1 + \sum_{k=1}^n (P_{k+1}q_{k+2} - P_{k-1}q_k) \\
 &= Q_1 + (P_2q_3 - P_0q_1) + (P_3q_4 - P_1q_2) + (P_4q_5 - P_2q_3) \\
 &\quad + \dots + (P_{n-2}q_{n-1} - P_{n-4}q_{n-3}) + (P_{n-1}q_n - P_{n-3}q_{n-2}) \\
 &\quad + (P_nq_{n+1} - P_{n-2}q_{n-1}) + (P_{n+1}q_{n+2} - P_{n-1}q_n) \\
 &= Q_1 + P_nq_{n+1} + P_{n+1}q_{n+2} - P_1q_2 - P_0q_1 \\
 &= 2 + P_nq_{n+1} + P_{n+1}q_{n+2} - (1)(3) - (0)(1) \\
 &= P_nq_{n+1} + P_{n+1}q_{n+2} - 1.
 \end{aligned}$$

Thus, the proof is now completed.

#### 4. Conclusions

In this paper we shown some relationship of Pell, Pell-Lucas and Modified Pell numbers. Moreover, we gave some formula of  $\sum_{i=1}^n P_{2i+2}q_{2i}$ ,  $\sum_{i=1}^n P_{2i}q_{2i+2}$ ,  $\sum_{k=0}^n Q_{2k}$ ,  $\sum_{k=0}^n P_k^2$ ,  $\sum_{k=0}^n Q_k^2$  and  $\sum_{k=0}^n Q_{2k+1}$ .

#### Acknowledgement

The authors would like to thank the referees for useful comments and suggestions on the manuscript.

#### References

- [1] Alwyn F. Horadam. (1971). "Pell Identities". **The Fibonacci Quarterly**. Vol. 9. no. 3 : 245-252.
- [2] Alwyn F. Horadam. (1994). "Applications of Modified Pell Numbers to Representations". **Ulam Quarterly**. Vol. 3. no. 1 : 34-53.
- [3] Alwyn F. Horadam and Piero Filipponi. (1995). "Real Pell and Pell-Lucas Numbers with Real Subscripts". **The Fibonacci Quarterly**, Vol. 33. no. 5 : 398-406.
- [4] Thomas Koshy. (2001). **Fibonacci and Lucas Numbers with Applications**. First Edition. New York : John Wiley & Sons, INC.
- [5] Emrah Kilic and Dursun Tasci. (2005). "The Linear Algebra of the Pell Matrix". **Boletín de la Sociedad Matemática Mexicana**. Vol. 11. no. 3 : 163-174.
- [6] Ahmet Dasdemir. (2011). "On the Pell, Pell-Lucas and Modified Pell Numbers by Matrix Method". **Applied Mathematical Science**. Vol. 5. no. 64 : 3173-3181.
- [7] Joseph Ercolano. (1979). "Matrix Generator of Pell Sequence". **The Fibonacci Quarterly**. Vol. 17. no. 1 : 71-77.



- [8] Doron Zeilberger. (1991). "The Method of Creative Telescoping". **Journal of Symbolic Computation**. Vol. 11. no. 3 : 195-204
- [9] Ray S. Melham. (1999). "Sums Involving Fibonacci and Pell Numbers". **Portugaliae Mathematica**. Vol. 56. no. 3 : 309-317.
- [10] Serpil Halici and Ahmet Dasdemir. (2010). "On Some Relationships among Pell, Pell-Lucas and Modified Pell Sequence". **SAÜ. Fen Bilimleri Dergisi**. Vol. 14. no. 2 : 141-145.
- [11] Serpil Halici. (2011). "Some Sums Formulae for Products of Terms of Pell, Pell-Lucas and Modified Pell Sequence". **SAÜ. Fen Bilimleri Dergisi**. Vol. 15. no. 2 : 151-155.
- [12] Somnuk Srisawat and Wanna Sriprad. (2016). "Some Pell and Pell-Lucas Identities by Matrix Methods and Their Applications". **Science and Technology RMUTT Journal**. Vol. 6. no.1 : 170-174.